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1. YIIDOCTUTB:
a)Ccos o cos3a—sin asin 3o = cos4a
0)sin2o.cos o+ cos2asina = sin3a

B)sin a.cos3a+cosasin3a. = Sin 4o

r) tgy + tg3y

1 —tgytgly B tg4y




2. Botuucanumo

a)sin10° cos20” 4+ cos10’ sin 20° = sin30° =
6)cos18° cos12’ —sin18"sin12’ = cos30’
B)sin 40° cos 5° + cos 40° sin 5° =sin45° =
r)cos 7’ cos38’ —sin 7’ sin 38" = cos45° =
0 tg35° —I—Otgl 000
1—tg35 tglO

= tg45° =1







Bapuaumbl RPDUMEHEHUA HO6bIX QOQM VJ1

SIN]10xX = 2s1n 55X cos5x

cos(8x —14y) = cos’(4x —Ty) —sin” (4x — 7y)

2sin7xcos7xXx = sinl14x

cos” 3,5t—sin”*3,5t= cos’/t

. X . X X
SINn — = 2 S1n — COS —
4 S S







Tpuronomerpuueckue (popMyJibl ABOMHOIO APryMEHTA
SIn 2x = 2S1n X COS X;
coS2x =cos’ x—sin” x;
cos2x =2cos”> x—1;
cos2x =1—2sin" x;
2tgx

1g2x =

l—tg’x’

., x l—cosx ,x l+cosx
SIn — = ; COS —= :
2 2 2 2







Jlomauwinee 3a0anue:

921,
No21.1-21.6(a),
Ne21.9(a).
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